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Credit Based IV Semester B.A. (HRD) Examination, April/May 2018
(New Syllabus) (Common to all Batches)
FINANCIAL MANAGEMENT

TEOTAN ARFTR

Time : 3 Hours " Max. Marks : 100

Instructions : 1) A single answer book containing 40 pages will be issued.,

2) No additional sheets will be issued.
BRI 1) 40 Pesn's’ soord Uiktopst) a’anog QBRI
| 2) By @YY dedenngoe

SECTION - A
TN - D
(15 marks each) &
(B3cdnomen, 15 wosnsh) (15x3=45)

.nswer the following :

3INS TInert eugoR0 :

1. What is financial management ? Explain the scope of financial management.
BESTIRD DeDF B DOTTERD ? BEFTORD VeI BFROD TR0, DF|ORD.
OR/ags
What is capital structure ? Explain the factors determining the capital structure.

WOTY T3F D0TBER ? WoRmY TR0, AGFOR0S OBNTZY, DTORO.
P.T.O.
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2. Proforma cost sheet of g éompany provides the following details -
20T TR0 dzgd DI B3 9N aafabn’%*@t QRIS :

Elements of cost Cost/unit ®)
aa"agd WOl Qo3 T3 0T saga (2=.)

Raw materials ( ﬁzs% d:g) 80
Direct labour ( ﬁ.ro@) 30
Overhead ( ﬁoecjdag) 60
Total cost per unit _17—0_—
(Bé ceders Wi, Fng)

Profit ( o) 30
Selling price (Snooes %) _2_5—_0_—

The following particulars are available :

B3 39N DmoDre VP :

a) The proposed level of activity is 1,04,000 units.
NHRTBID B 1,04,000 ot ich,

b) Raw materials are in stock on an average for one month.

ﬁmem@od@ﬁ s’aaaw [ Qv Cial 2,070 Sorsd,

ATIRROR SR Bes008s v.omd> soriehy,
e) Credit allowed by suppliers is one month.

WOND JeRT e BBQ 203 Somed.
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f) Credit allowed to customers two months.
MTION VERT TOTI 330 2 Somed.

g) Minimum desired cash balance ¥ 25,000.
QEIHT ﬁé’oﬁu We0eats IR =g dr. 25,000.

Prepare statement showing estimation of working capital requirements.

dﬁﬁcaﬁ mocémeﬁdﬁg{ 0TIV DT :’i}ew‘&oésdgt 3c3n02D.

OR/ema

Explain the factors affecting working capital requirements of a firm.

B80S '<’.\Joc§w=>&’é’az-:’gt QP ORI ©0BNIR), QSOR0.

3. Explain the sources of long term finance for a firm.

HRDHRC 255

Sat ﬁofcapodw QepF TN L3eTor>s Smﬁ@{ SBo30= MGW@_ QTJORD.
OR/ege

The following details are available relating to a project :

TRTTTT AoLOTITLd Tshd B3 FPNT03 -

Cost of the project
(s 33

Life of the project
( @ﬁﬁ ﬁemﬁ@)

J Method of depreciation :

(Berobeas w53

¥ 3,00,000

dr. 3,00,000

6 years

6 RN

Straight line method
BTG TS

Year Cash inflows () PV of Re. 1 at 10%
SHE SR wITOPY) (Bn.) 10% Sed 8. 1 TPV

70,000
80,000
1,00,000
1,40,000
1,60,000
90,000

O O 4. 0D N s

0.909
0.826
0.751
0.683
0.621
0.564
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‘Compute the following :

" b) Average rate of return.

B3 i#ﬁd«:ﬁmidgl NPFO0
a) Payback period.
CESAPK T Al

RTEIT Bee3® e5TF OLINTF
c) NPV at 10%.
AV & D 10%.
d) Profitability index at 10%.
(Snthin 20zE 10%.

SECTION -B
TN - W
(5 marks each)
(B3odnomien, 5 wornd) (5x6=30)

Answer any six questions :
AR TTTN T _w)zgﬁeﬁdgl eVZOR0 : : -

i

Explain the motives behind holding cash.
SNTR), BROOTT LVEIEBRR) DTORD.

What is wealth maximisation ? Explain its merits.
B 3 830,28e35° orTesd ? W VTSR ENNTIR), D[ORD.

Define cost of capital. Explain the different concepts of cost of capital.
WOTNET ﬁzida’g{ TSTRRO. WOTNY dzgdd FATAIA] wbﬁqﬁr{%& QTORD.

Explain the advantages and disadvantages of bank credit.
U088 MO SIBRUE TN LHIBRVSNIR) DIOR0.

Explain the importance of capital budgeting.
TRST 20e8Ed0n S @dw&%éa‘b@t aasaa;a._
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6. Calculate financial leverage, operating leverage and combined leverage from
- the following :

FT BeDT, esBetson® T SOt T, STV F0T30ROND :

Sales . 10,000 units at X 15 per unit

RN0W . 10,000 chRET, BR. 15 T3 O3RN
Variable cost @ X9 per unit

@‘a%wa’ ﬁzi . 8p.933 03RRI

Fixed cost - ¥20,000

F O3 aﬁz&jg . gn. 20,000

Interest - ¥10,000

wa, . gr. 10,000

7. From the following capital structure of a company calculate weighted average

cost of capital.

2207 00T WOBIY SBS000T B BT dRTer TR, ST° @ﬁébaaozﬂaa{

B0 ECWD. :
Sources Amount ()  After tax cost of capital (%)
(MUﬁvéa) (s».) méa:wafo:«!:dz:s WOTTP 5?%,

Equity Shares 12,00,000 18%

(fafcsdw a’iedaﬁe;b)

Preference Shares 4,00,000 14%

(@@’6&1 RedoneDd)

Retained Earnings 2,00,000 16%

(W@Pod o)

Debentures 12,00,000 - 12%

(033)
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8. From the following calculate EOQ as per Tabular Method.

33 3PN @odnPom EOQ 50m0&B0N00.
Order sizes (in units) : 8,000, 4,000, 2,000, 1,000 and 500

(RO BRnes)
Annual consumption : 8,000 units
(s W)
Ordering cost : ¥ 100/order
(R0 &)
Carrying cost : Re. 0.50/unit
(my0m )
SECTION-C
QTN - 2

(3 marks each)
(BeBremEn, 3 ©03NN)

Answer any five questions :

CIRFTRTAR DT TINTRY, YUIORD :

1. Write a note on operating cycle.
FOOIRF 30T WHT I L3S LT,

2. What are the costs of extending credit ?
30 DRTEN ROWOPRT aiz'?’dr{%i) oadnF)) ?

3. State the limitations of profit maximisation objective.
ﬁazz’%cfaw wcsoeeﬁcﬁ é)aér{%#dgt S92

4. Write a note on preference shares.
ST, Redony wif €3S WI0D.

5. State the objectives of holding inventory.
ROBO TRAYRINYR), BROOT UTEBRI), SPA0.

(3x5=15)
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6. A company issues ¥ 10,00,000, 16% debentures of ¥ 100 each. The company
is in 40% tax bracket. Compute after tax cost of debt, if debentures are issued
at par. '

2,003 BoTICI1 Tr. 10,00,000, 16% W&, B08 MOBTZRIY T& 100 8n. 1t SR8
- RRRIT. eR,E See® 40%. FOTROLD RO OTZT/I BODWST BT IRBTT €T
B30T MOTZT SWR), FOREBAND.

7. What is optimum level of cash ?

SN0 STBF 30kl 2TTED ?
SECTION -D
AN - 8
(1 mark each)
(1 @08 S53) (1x10=10)
Answer all the questions :
83 3INT A, BINert GuZOR0:
1. What is time value of money ?
530" TR, BF° R 0T3BERD ?
. What is financial leverage ?
FOD* B0 DITeeT 0TS ?

3. What is venture capital ?

JI30° T DOTBEID ?

4. What is meant by IRR ?
. €30°.830°. OTTBERD ?

5. What is lead time ?

e RO 0TTERO ?
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8. What is cash planning ?
N 03pexs Q0TTe 9

7. What are retained earnings ?

0¥ @ esorQome QOTTER) 9

8. Give the formula to calculate EQQ.

F0Q sodtoaatos dngan) sens,

9. What are receivables ?
A, €8T ( b&dewezf) QOTTE 9

10. What are Mutually exclusive projects ?

a’nr%as*d@e @ﬁi@q&w a:’g_a)zés; QOTTE 9

ARy
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